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This diagram shows the forces acting on the seesaw.
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How can the children balance the seesaw?

The girl can do this by moving towards the pivot. Then her weight will have lees turning effect, because

it will be closer to the pivot.

XeLwWwyypruvH T3HB3IPUUH HOXLION :

Amvap 4 TOoXxuongong XewyypravH
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VPXYYIC3H YPXKB3PTan TIHUYY 6anHa.
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1 Look at the photograph of the

children on the seesaw. Does the
girl’s weight turn the beam clockwise
or anticlockwise?

1 clockwise

2 Suggest two ways in which the boy could balance the beam.

2 The boy could move backwards, or carry a heavy
weight.
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Levers — 3 classes
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The turning effect of a force depends on two things: M=dxF l: F
1. The greater the force, the greater its turning effect.
2. The further the force is from the pivot, the greater its turning effect. il distagce

We can calculate the moment of a force like this:

Moment= force X distance from pivot

The bigger the moment of a force, the greater its turning effect

XOeLYYpraHa yunuumk 6amraa Xy4mmr Xy4HUmM mMepeep YPXXYYNCaH YPXKBIPUNT XYHHUN
MOMEHT MH3. XYYHUN MOMEHTUUI M ycrasp TamMaarnax bereeq HaNkHb [H X M].
Onox Tombeo: M=Fxd acBa M=FxL.






